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⎜⎜⎜⎜⎝

d1 0 · · · 0

0

0
0 · · · 0 dn

⎞
⎟⎟⎟⎟⎠ D−1 =

⎛
⎜⎜⎜⎜⎝

1
d1

0 · · · 0

0

0
0 · · · 0 1

dn

⎞
⎟⎟⎟⎟⎠ .

n p x1 x2 xp⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩
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z = x+ iy,

x y i i2 = −1
x z y

z (O;−→ı , −→j )
M (x, y) x z y

z M

z |z| [OM ]

z �= 0 z arg z (−→ı ,
−−→
OM)

2π

� 0 z
r θ z = r(cos θ + i sin θ).

z

∀θ ∈ R, eiθ = cos θ + i sin θ.

z

z = reiθ,

r z θ z

z

(a, b) ∈ R2 n ∈ Z

ei(a+b) = eia × eib, e−ia =
1

eia
, eina = (eia)n.

θ ∈ R

cos θ =
eiθ + e−iθ

2
, sin θ =

eiθ − e−iθ
2i

.



θ ∈ R n ∈ Z

(cos θ + i sin θ)n = cos(nθ) + i sin(nθ).

z = x+ iy (x, y) ∈ R2 z

z = x − iy.

� z z

z �= 0 z = reiθ (r, θ) ∈ R+∗ ×R

z = re−iθ.
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� n ∈ N n

m (X − α)m P (X − α)m+1 P
m α

� α
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E R
M ∈ R E

∀x ∈ E, x ≤ M.

E
E E +∞
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∀x ∈ E, x ≤ x0,

E x0 x0
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∀x ∈ E, x ≥ x0,

E x0 x0
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x |x|

|x| =
{

x x ≥ 0

−x x < 0.

(x, y) ∈ R2
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